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6. If you take a 10% pay cut, and later you get a 10% pay raise, is your pay back to the same %O w '
amount it was before? If not, how much should the raise have been to bring you back to your . " L /
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7. Kara's emporium sells pepper grinders at a mark-up of 20% over the wholesale cost. If the
wholesale cost of a pepper grinder is $26, how much does it sell for retail at Kara's?

8. Kara's is selling the pepper grinders from the previous problem on sale at wholesale cost.
What percent discount is that on the usual retail price?




